oL 'ﬁ Qg_@é = gfgi—-l"’% u
=(aL sed. BPQ- 01 48P8)
+(ox 3ed. APR- an. AAPH)

= aL. %et.(BPR+AR)
T~ A Quad, APRY




Leaf special case (U=l # fa=iw fufe):
o L -

, 2 _4 5
‘{.} rea-;a

e

R ot (RPY+AR) -




/7. Two equal circles intersect so
that their centres, and the points
at which they intersect form a
square of side 1 cm. The area (in
sg. cm.) of the portion that is
common to the circles is

3
| SSC CGL T2 12 Jan 2017 |



D C 4/8. In the given figure ABCD is a square. Four
equal semicircle, intersecting at O, are
drawn with sides of square as diameters.
Each of the side of the square is 8 cm. Find

4 l the area of the shaded region.

A gt & S IMHT F ABCD T T B ARY
sTeTT3T U ARt AR A

R U loxu FHTT 30 TR & o § &1 at
I wefl g 0 W e & a7 i 73+
ST 8cm B| SHAfFd TR FT &awd
qdr &)
%32(1: —2)em? b)16(m — 2)cm?

c)(2m —8) cm? d) Gn — 4) cm?

] 4



Circles similarity (1D-2D relations):
All e vt are RZimilal [/ TASBT .

1 ¥ ax
Q’D) & b 2! d 2x
QQ D) dz. 2 G2 3 Givoum, 2%
A © | nia(an (g
0, X):\{x




OMA |6 x oM [0 x
T M)(:ﬂ ‘Y \Qx

d Ux d I® x
Civ. U\X QY(M\M' mx




/9. If the circumference of a circle
increases from 4m to 8m, what

2 change occurs in its area?
3R frdt ga @r aRkfer &t 4n
Cive. 2P~ ¥ g 8n FX AT ST
e S &aha H fhadl gefer
; g
OMa Q_): U x a) It doubles b) It triples

/ﬂt quadruples d) It is halved




20. The radius of a circle A is twice

that of circle B and the radius of

C circle B is twice that of circle C.
| Their area will be in the ratio

gd A T B=ar ga B & BT
. ﬁa’m?ﬁ%aﬁta?raaﬁrﬁw
. a?rca?rﬁ#a?ﬁra
mmmmw

A 16:4:1 b) 4:2:1

c)1:2:4 d) 1:4:16




21. Two equal circular regions of greatest
possible area are cut off from a given
circular sheet of are What is the
remaining area of the sheet?

9% A drell fRdl gaerR ofic &
¥ 2 HOFdHA TPl F a9 FI
Jd 8] T g e F1 A%

FIT 1?2

2
Y

A
"%

A
= b);

| CDS 4 Feb 2018 | 9



92.The radii of three concentric circles are in
the ratio of 4:5: 7. What is the ratio of the
area between the two inner circles to that
between the two outer circles?

| SSCCGLT1, 06 Jun 2019 53| 10



28.The radius of a circle is 20 cm.
| : 230 Y The radii of three concentric
J%- circles drawn in such a manner
that the whole area is divided

|ox into four equal parts, are:

ﬁﬂﬁ'ﬂﬁ'ﬁhZOcm%l
Eﬁaaﬂmaawm
aaﬁaﬁ%ﬁ?wa?rau‘r
ST 4 WA HEY A

feanfara & smar 3 = gat
f A Bsar AT F:X

a) 201/2, 20V/3, 20

p) 103 102 10

/10\/5 136x/f 10

d) 17, 14,9, 8

| | 11

x(0




24. A circle of 3m radius is divided
into three areas by semicircles of
radii 1m and 2m as shown in the
figure above. The ratio of the
three areas A, B and C will be

3m Bar arer #15 g9 B
@ 1m 3R 2m a@ 3refgdar

A carr i aEwal A fanfaa
@ fFar srar §] = sAwar A, B
3R ¢ FT AT FAT B2
1:

2:

a)2:3:2

1:1:1
c)4:3:4 d1:2:1

CDS 14 Feb 2016 12



2&. AD is the diameter of a circle with area
707 m? and AB = BC = CD as shown
in the figure. All curves' insides the
circle are semi-circle with their

D diameters on AD. What is the cost of
levelling the shaded region at the rate
of Rs.63 per m??

AD T& 707 m? ﬂmmﬁar—rﬂ
s & 3 AB=BCc=cD ¥ AT

# gd & 3111 Cr i C VL
mia?r g 3N 3F9F =W AD W
Rua &) 63 To ufy m? & Rww @
OIfhd HET & FAWT Fd 6

danerd feraer gref?
a) Rs.29700 b) Rs.22400
ﬁRs.14847 d) None of these

| CDS 14 Feb 2016 | 13



2. The areas of two circles are in
the ratio 1: 2. if the two circles

are bent in the form of
O squares, then what is the ratio
of their areas?

. ar gel & &ahal T IHTUTT
(Zo)m" Z 12%|3n11a’l?|’raa’rafr

(D)Grum 1 2 o &
. 1 AT AT §Ye?

(p) Poim. 1 % g2 A2 b) 1:3

(2 ) e Ty c) 1:v/2 d) 1:4

| SSC GD 8 Feb 2023 S1 | 14



S et

2% The short and long hands of a

Howt hond )}W _ !
) (/Mw‘vdx n ] ’2‘
6 pet minnkts
‘m d/i‘v\z,h'lw, Ppzod
\\ \L / OYC\AW\—%:Yonu.

2T x |\

3X3><—\§4 X1

clock are 4 cm and 6 cm long,
respectively. Then, the ratio of
distance travelled by tips of
short hand in 2 days and long

hand in 3 days, is
et gt fr S ik 9D

15
los2031 |



Circles misc. questions:




4. Perimeter of an equilateral
@ 0= Ax2LxT @ triangle is equal to the

circumference of a circle. The

T -
A - O ratio of their areas is

o .U T WA PSS &1 aRAm
Yy 2l U 3T T g gm A IR F T
TR EETTE s g
—_— = — qar S
O Yx 22 x¥ " A M22:21M3  b)21:22V3
Y 2 I\ _Taymmro)21:22vZ2  d)22:21V2
T IXTHAE O Y xjgueg
)ﬁaxz\wr@

| MP Forest Guard 27 Jul 2017 S3| 18



230 — Wux(2)
2>
A5

I5UXA S x|
N X100
17 “so

92.The cost of fencing a circular plot at
the rate of Rs.15 per meter is Rs.3300.
What will be the cost of flooring the
plot at the rate of Rs.100 per square
meter?

fFdl garPR taTe & IRY MR 18
A & 15%9T 9fy A A W @
3300 FT @I HGT g 100 TC
gfa gar #Hlex #if T F waAre H v
o= & 89 areT @ 9a1r F)
_#fRs.385000 b) Rs.220000

c) Rs.350000 d) Can’t say




3. In the given figure, AB = CD =

2BC = 2BP = 2CQ. In the middle,
@ a C|rcle with radius 1 cm is drawn. In
rest figure all are the

sem|C|rcuIar arcs. What is the
perimeter of the whole figure?
24arpdejbwwurchbm|n M&W' Re gu am@ ﬁ'%AB CD =
e ‘th y=2 ¢ . 2BC=2BP=2CQ g fT A &
Sovat, with T=TCm & Somt a?-r%ﬁ'a?ﬁrﬁ—q'r1'\ﬁ?%l
o . . o @ F A W R ardaa § A
2 pomi Civdard with Y= 2 =51 Grde with =2 U PR FT IRAT T3]

6 v " Y =12 uvdy v T=| a)4m b) 8w
k,& A10m d) 7m

) [ X2-T-2 +3x2-71- |

= UYTT+éT1=10T




Y. The area of the largest triangle that
can be inscribed in a semi circle of
radius r is:

S T 93 B v v B
are mia?r #§ T3ifra Y o
et & ITFT ATET TN

- /fr cm? b) (5)2 cm?
m ) rv2 cm? d) 3+/3r cm?
Y
Y




& Jp® /2 |R
O “4x(6 y ,
— 7]
@ 4
Q _A337

&YX C—

5+ A circle inscribed in a square of side
2cm has an equilateral triangle
inscribed inside it. What is the ratio
of areas of the equilateral triangle to

that of the square?
Uh gd I T T A O g 8§
ool 2cm 3| I ¥ 3R

a)9\/§ | b)3V3: 4
) 9V3 : /3\/5 . 16

| DDA 9 Nov 2020 | 22



G 4+ Consider equilateral triangle T inscribed in

circle C, what is ratio of the areas of T and C?

©  Consider Circle P inscribed in equilateral

7 triangle Q, what is ratio of the areas of Q

P and P?

. gaarg AT rg@ c H Afra e ar T

A A3[3 SﬁT ¢ ¥ aawe @ IaTd AT 87

= wwarg BT Q # ga p #fFa ¥ ar q
O BxT.4 A:M‘g st PF aawal wmw%?

O <=xT }6\3\/5.411,3\/5. 167 %3\/5.411,3\/—:11

c)\/§:n',3\/§:4-n' d)\/§:1‘t,\/§:161‘t




7. If the difference between areas of
the circumcircle and the incircle of
an equilateral triangle is 44 cm?,

T then the area of the triangle is
Hx D-T)=2x22 Rl W P & oRad
L IR eaEd F el @
. HAT 44 cm? § A 30 TXoger 7
A-—V‘ :f——%fg qumarfrl

a) 28 cm? b) 7v/3cm

'6 ?)
\) ? /14\/5 cm? d) 21 cm?




80 A jogging park has two identical circular tracks touching
each other, and a rectangular track enclosing the two
circles. The edges of the rectangles are tangential to the
circles. Two friends, A and B start jogging simultaneously
from the point where one of the circular tracks touches the
smaller side of the rectangular track. A jogs along the
rectangular track, while B jogs along the two circular tracks
in a figure of eight. Approximately, how much faster than A
does B have to run, so that they take the same time to
return to their starting point?

UF SN G A TH ! T FQ@ §U & JAFR ¢

25
| CAT 2005 |



9. A wire is bent to form a square

O ve O of area 169 cm?, If the same
wire is bent to form a circle,
O then what is its area (in cm?,
_ to the nearest whole number)?
a=l - TH dR & 169 cm? &%
puy  4Yu ¢ & T T & Qv A
LIELLLE:
\\ ? oire,
O I =L 164 smo'r aThd  ( cm? &,
~ O frseaw qot wEAm aw) F4
] v I—>16q N\ gram?
A 215 b) 227
‘Q—ﬁ__ Q,S) 532 d) 531

| SSC CHSL, 13 Apr2021 Sé 26



|0- A square park has area 4356m?. Taking its
D _ O one round is same as taking one round of
P - C . .

another circular park. Find the area of the

22
circular park. (use = —)

o=1l T=7 fFdt TR TIF FT AT 4356m?
- SHRT TF TFRY AT, GO JATHR
p=uy U4=C W F T TEE R F @A R
AR 9Tk HT A% AT R
O Jsylu—s? (m=5 )
0 M) —>uss ¢ a) 11088 m’ M5544m2
396 c) 22176 m d) 1386 m
;x\w
—H"

|SSC MTS, 13 Oct 2021, Sﬁ 7



[l- The area of a circle that is inscribed in a
9 .
b N — square of area 171—cm2 is:

17 2cm? &6 aiad ¥ & Haw

! 3 gd FT &G AT FY
a) 22 cm? b) 28 cm?
%14 cm? d) 16 cm?

\) 7 J—\q\i'\&
—
O _w.y =

—_— -"H’S(.lJ.r
L] Way— 194
||

28
|SSC CHSL, 15 Apr 2021 S3|



|2« A wire is in the form of a square of side

O 33 cm. If the wire is molded to form a
() vs
a, ’ba’ 22 circle, then what is the radius of the circle?
*(’ Kﬁ FE R 33 cm SN a qF & HHR
c iy Y17 F ¥ IR AR P G TAT F AT are
uy U4 ¢ W%Eﬂacaa?rﬁ—mmﬁl
P 21 cm b)33 cm
c)16.5cm d) 42 cm

Fog A

A=

|SSC MTS, 11 Oct 2021, Sﬁ 9
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